





$$\left\{ \begin{array}{l} z_1' = \lambda z_1 + z_2 \\ z_2' = \lambda z_2 + z_3 \\ \vdots \\ z_{r-1}' = \lambda z_{r-1} + z_r \\ z_r' = \lambda z_r \end{array} \right.$$

(xiii) The solution space of  $z' = T_z z$  has a basis

$$z^{(l)} = \begin{bmatrix} t^l / l! \\ t^{l-1} / (l-1)! \\ \vdots \\ t / 1 \\ 1 \\ 0 \\ \vdots \\ 0 \end{bmatrix} e^{\lambda_1 t} \quad \text{for } l = 0, \dots, r-1, \text{ i.e.}$$

$$\begin{bmatrix} 1 \\ 0 \\ 0 \\ \vdots \\ 0 \end{bmatrix} e^{\lambda_1 t}, \begin{bmatrix} t \\ 1 \\ 0 \\ \vdots \\ 0 \end{bmatrix} e^{\lambda_1 t}, \begin{bmatrix} t^2/2 \\ t \\ 1 \\ 0 \\ \vdots \\ 0 \end{bmatrix} e^{\lambda_1 t}, \dots$$

(xiv) In computing the Jordan normal form, we also find the matrix

$$U = [Id \ v]_{B^{old}, B^{new}}, \text{ i.e. for the } j^{th} \text{ basis vector } v_j \text{ in the new basis,}$$

$$v_j = \sum_{i=1}^n u_{ij} e_i, \text{ where } (e_1, \dots, e_n) \text{ is the original basis.}$$

(xv) For each vector from (xiii) extend the column vector by zesos to get a solution  $z^{(r,j,e)}$  of  $z' = [T]_{B^{new}, B^{new}} z$ .

The corresponding solution of the linear system w.r.t. the original basis is

$$y_{(r,j,l)} = Uz_{(r,j,l)}$$

II. Lecture 30, part 1  $\approx$  (30 mins)

10mins A. An example with real eigenvalues.

$$y' = Ay, \quad A = \begin{bmatrix} 6 & -4 & 1 \\ 4 & -2 & 3 \\ 0 & 0 & 2 \end{bmatrix} \quad B = (e_1, e_2, e_3)$$

$P_A(\lambda) = (\lambda - 2)^3$ . So one eigenvalue  $\lambda = 2$  w/multiplicity 3.

$$[N]_{B,B} = A - 2I = \begin{bmatrix} 4 & -4 & 1 \\ 4 & -4 & 3 \\ 0 & 0 & 0 \end{bmatrix},$$

$$[N^2]_{B,B} = (A - 2I)^2 = \begin{bmatrix} 0 & 0 & -8 \\ 0 & 0 & -8 \\ 0 & 0 & 0 \end{bmatrix}, \quad [N^3]_{B,B} = 0 \text{ matrix}$$

$$V_2^{(1)} = K_{er}(N) = S_{pn} \begin{pmatrix} \begin{bmatrix} 1 \\ 1 \\ 0 \end{bmatrix} \end{pmatrix}, \quad V_2^{(2)} = S_{pn} \begin{pmatrix} \begin{bmatrix} 1 \\ 0 \\ 0 \end{bmatrix}, \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix} \end{pmatrix}$$

$$V_2^{(3)} = V.$$

Choose  $v_{(3,1)} = e_3$ . Then  $B' = B_{(3,1)} = (N^2 e_3, N e_3, e_3)$

$$= \left( \left( \begin{bmatrix} -8 \\ -8 \\ 0 \end{bmatrix} \right) \begin{matrix} N \\ G \\ \end{matrix} \left( \begin{bmatrix} 1 \\ 3 \\ 0 \end{bmatrix} \right) \begin{matrix} N \\ G \\ \end{matrix} \left( \begin{bmatrix} 0 \\ 0 \\ 1 \end{bmatrix} \right) \right) \quad U = \begin{bmatrix} -8 & 1 & 0 \\ -8 & 3 & 0 \\ 0 & 0 & 1 \end{bmatrix}$$

$$[N]_{B', B'} = \begin{bmatrix} 0 & 1 & 0 \\ 0 & 0 & 1 \\ 0 & 0 & 0 \end{bmatrix}, \quad [T]_{B', B'} = \begin{bmatrix} 2 & 1 & 0 \\ 0 & 2 & 1 \\ 0 & 0 & 2 \end{bmatrix}$$

w.r.t.  $B'$  a basis for the solution space is

$$z_{(1)} = \begin{bmatrix} 1 \\ 0 \\ 0 \end{bmatrix} e^{2t}, \quad z_{(2)} = \begin{bmatrix} t \\ 1 \\ 0 \end{bmatrix} e^{2t}, \quad z_{(3)} = \begin{bmatrix} t^2/2 \\ t \\ 1 \end{bmatrix} e^{2t}$$

w.r.t original basis  $B$ , a basis for the solution space is

$$y_{(1)} = Uz_{(1)} = \begin{bmatrix} -8 \\ -8 \\ 0 \end{bmatrix} e^{2t}, \quad y_{(2)} = Uz_{(2)} = \begin{bmatrix} -8t+1 \\ -8t+3 \\ 0 \end{bmatrix} e^{2t}, \quad y_{(3)} = Uz_{(3)} = \begin{bmatrix} -4t^2+t \\ -4t^2+3t \\ 1 \end{bmatrix} e^{2t}$$

So the general real solution of  $y' = Ay$  is

$$y = C_1 \begin{bmatrix} -8 \\ -8 \\ 0 \end{bmatrix} e^{2t} + C_2 \begin{bmatrix} -8t+1 \\ -8t+3 \\ 0 \end{bmatrix} e^{2t} + C_3 \begin{bmatrix} -4t^2+t \\ -4t^2+3t \\ 1 \end{bmatrix} e^{2t}$$

5 mins B. What if some eigenvalues are complex:

Answer : Go through the same process as before to get  $y_{(r,j,l)} = Uz_{(r,j,l)}$ . Then take the real and imaginary parts of  $y_{(r,j,l)}$ . You only need to do this for one of the two complex conjugate eigenvalues in each conjugate eigenvalue pair.



: It is not okay to take the real and imaginary parts of  $z_{(r,j,l)}$  !

The matrix U will have complex entries, and you need to first compute  $z_{(r,j,l)}$ .

10 mins-15 mins C. An example with complex eigen values

$$V = \mathbb{C}^4, \quad B = (e_1, e_2, e_3, e_4), \quad T = T_A,$$

$$A = \begin{bmatrix} 2 & 1 & -1 & 3 \\ -1 & 2 & 0 & -2 \\ 0 & 0 & 2 & 1 \\ 0 & 0 & -1 & 2 \end{bmatrix}, \quad P_A(\lambda) = ((\lambda - 2)^2 + 1)^2$$


---


$$\lambda_+ = 2 + i, \lambda_- = 2 - i$$

$$\lambda_+ : [N_+]_{B,B} = A - \lambda_+ I = \begin{bmatrix} -i & 1 & -1 & 3 \\ -1 & -i & 0 & -2 \\ 0 & 0 & -i & 1 \\ 0 & 0 & -1 & -i \end{bmatrix},$$

$$[N_+]^2_{B,B} = \begin{bmatrix} -i & 1 & -3 + 2i & -3 - 6i \\ -1 & -i & 3 & -3 + 4i \\ 0 & 0 & -i & 1 \\ 0 & 0 & -1 & -i \end{bmatrix}$$

The matrix  $[N_+]^2_{B,B}$  is row equivalent to

$$\begin{bmatrix} 1 & i & 0 & -3-i \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 1 & i \\ 0 & 0 & 0 & 0 \end{bmatrix} \quad \text{So } \mathbf{V}_{\lambda t}^{(1)} = S_{pn} \begin{bmatrix} 1 \\ i \\ 0 \\ 0 \end{bmatrix},$$

$$\mathbf{V}_{\lambda t}^{(2)} = S_{pn} \begin{bmatrix} 1 \\ i \\ 0 \\ 0 \end{bmatrix}, \begin{bmatrix} 3-i \\ 0 \\ i \\ -1 \end{bmatrix}.$$

$$\text{Choose } \mathbf{V}_{(2,1)} = \begin{bmatrix} 3-i \\ 0 \\ i \\ -1 \end{bmatrix}, \quad \mathbf{B}_{(2,1)} = \left( \begin{bmatrix} -4 & -4 & i \\ 4 & -4 & i \\ 0 & & \\ 0 & & \end{bmatrix} \begin{matrix} \text{N} \\ \text{G} \\ \\ \end{matrix} \begin{bmatrix} 3 & -i \\ 0 & \\ i & \\ -1 & \end{bmatrix} \right).$$

With respect to this lin ind. set,  $T$  has matrix  $\begin{bmatrix} 2+i & 1 \\ 0 & 2+i \end{bmatrix}$ .

So the solution space for  $\lambda$  has a basis

$$\begin{bmatrix} 1 \\ 0 \end{bmatrix} e^{2t} e^{it}, \quad \begin{bmatrix} t \\ 0 \end{bmatrix} e^{2t} e^{it}$$

$$\text{So } y_{(2,1,1)} = \begin{bmatrix} -4-4i \\ 4-4i \\ 0 \\ 0 \end{bmatrix} e^{2t} e^{it} = e^{2t} \begin{bmatrix} -4 \cos(t) + 4 \sin(t) \\ 4 \cos(t) + 4 \sin(t) \\ 0 \\ 0 \end{bmatrix} + i e^{2t} \begin{bmatrix} -4 \cos(t) - 4 \sin(t) \\ -4 \cos(t) + 4 \sin(t) \\ 0 \\ 0 \end{bmatrix}.$$

$$\text{And } y_{(2,1,2)} = \begin{bmatrix} 3-i+t(-4-4i) \\ t(4-4i) \\ i \\ -1 \end{bmatrix} e^{2t} e^{it}$$

$$y_{(2,1,2)} = e^{2t} \begin{bmatrix} t(-4 \cos(t) + 4 \sin(t)) + 3 \cos(t) + \sin(t) \\ t(4 \cos(t) + 4 \sin(t)) \\ -\sin(t) \\ -\cos(t) \end{bmatrix} + i e^{2t} \begin{bmatrix} t(-4 \cos(t) - 4 \sin(t)) - \cos(t) + 3 \sin(t) \\ t(-4 \cos(t) + 4 \sin(t)) \\ \cos(t) \\ -\sin(t) \end{bmatrix}$$

So a basis for the solution space is

$$y_{(1)} = \begin{bmatrix} -4 \cos(t) + 4 \sin(t) \\ 4 \cos(t) + 4 \sin(t) \\ 0 \\ 0 \end{bmatrix} e^{2t}, \quad y_{(2)} = \begin{bmatrix} -4 \cos(t) - 4 \sin(t) \\ -4 \cos(t) + 4 \sin(t) \\ 0 \\ 0 \end{bmatrix} e^{2t}$$

$$y_{(3)} = \begin{bmatrix} t(-4 \cos(t) + 4 \sin(t)) + 3 \cos(t) + \sin(t) \\ t(4 \cos(t) + 4 \sin(t)) \\ -\sin(t) \\ -\cos(t) \end{bmatrix} e^{2t},$$

$$y_{(4)} = \begin{bmatrix} t(-4 \cos(t) - 4 \sin(t)) - \cos(t) + 3 \sin(t) \\ t(-4 \cos(t) + 4 \sin(t)) \\ \sin(t) \\ -\cos(t) \end{bmatrix} e^{2t}$$

### III. Lecture 30, part 2 (≈ 20 min's)

Discuss the matrix exponential and its use to solve inhomogeneous linear systems with constant coeffs: § 6,6 of Borelli + Coleman.

Of course, the books definition of the matrix exponential is ridiculous. Also, both for finding solutions of inhomog. systems and for solving IVP's, it is better to go through the process above and then compute the matrix  $U^{-1} = [Id]_{B^{new}, B^{old}}$ .



Then for an IVP  $\begin{cases} y' = Ay + f \\ y(0) = y_0 \end{cases}$ , we get

the transformed IVP

$$\begin{cases} z' = U^{-1}AUz + U^{-1}f \\ z(0) = z_0 = U^{-1}y_0 \end{cases}$$

Because  $B = U^{-1}AU$  is in Jordan normal form, it is usually simpler to solve this directly than to compute the matrix exponential.